M451/551 Quiz 9

April 7, Prof. Connell
Name: En iU, A(“e-‘-‘l en

You do not need to simplify Hurerical expressions.
L. If B; is the beta of stock i for ¢ = 1,.

.,k, what would be the beta of a portfolio in
which a; is the fraction of ones ca,plta,l that is used to purchase stock ¢ (3 = 1,.
(Assume El_l a;=1.)
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(Problem #2 is on the other side.) \
> Tve ot o) gy, poctolio 16 just twe weighTed Sum O =
beles for ecch seeun ty.



2. Let X; be a Poisson random variable with mean X;. If Ay > Mg, show that X > X5,
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